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Question Number : 1 Question Id : 5447341121 Display Question Number : Yes Is Question
Mandatory : No

oy i - 1
f:R— R and g: R — R are two functions such that f(x) = v* and g(x) = =z then

x* (fog) (x) 1s equal to
f:R - R 28050 g: R — R 3 Bot Hvasren, f(x) = 12 00w g(x) =;12 -
Aoodwed, x* (fog) (x) & RAT00HEG

Options:
1. % 0

Question Number : 2 Question Id : 5447341122 Display Question Number : Yes Is Question
Mandatory : No
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; 1
The domain of the function f(x) = 1S
Vix|-x
1
fix)= e 9 HDICDEAN CIVE), PEFAW
x| —x
Options:

4. % (_mr 'Df'_})

Question Number : 3 Question Id : 5447341123 Display Question Number : Yes Is Question

Mandatory : No

-3,x <0
[ .] represents greatest integer function. Let g(x) = 1+ x — [x] and f(x) = { 0, x=0then
5 x>0
flg(x))is
-3,x<0
[.] & riﬁ‘%q Y Ko P00 , g(x) = 1+ x — [x] 0Badw f(x) = { 0, x=0
5. x50

033 Bt pAoirwond f(g(x)) O PAFdRONHG

Options:

, » F&)
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Question Number : 4 Question Id : 5447341124 Display Question Number : Yes Is Question
Mandatory : No

F1*4+2* 43 + 40t = f(_n'_)('l2 +25 i ¥ nz),b’ n € N. then f(4) =

VnEN®1* +2* +3*+ 40t = f()(1° + 22 + - +n?) wawd f(4) =

Options:
58

3. ¥

Question Number : 5 Question Id : 5447341125 Display Question Number : Yes Is Question
Mandatory : No

Which of the following matrices is not a square-matrix?

& 30BTES° DB BSVGH STSE 5°EA?

Options:
e (1]
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2 2
2 2
ok W
s o3 B 3l
i i 3
1 1 1
2 xilt & 4

Question Number : 6 Question Id : 5447341126 Display Question Number : Yes Is Question
Mandatory : No

If A is a non-singular matrix such that A. A" = AT. Aand B=A"". AT then

Aed 8 oo Args A.AT = AT A 206ak0 B = AT AT eocibitotaots

Options:

. u AB' =1

5 o Bi" =1

3 x A%B' =1
4 u BB =1

Question Number : 7 Question Id : 5447341127 Display Question Number : Yes Is Question
Mandatory : No
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a a a-y
Let0#a€zandA=|a a+x a |beamatrix. Thenequationdetd =16

a a
l'EpI'ﬁSEllTS
a a a- }-’q
0+a€zBOWA=|a a+x a a8 3-8 2086w detd = 16 2rdoid
a a
B W
Options:
a parabola

| % WS DT DVODOD

a circle

5 % S 55&9_?3.‘))3

an ellipse

. WS éd :);6&.‘11)
3. % A

a rectangular hyperbola

A6 BAOGR 98 DHOIHLOAD
4. =

Question Number : 8 Question Id : 5447341128 Display Question Number : Yes Is Question
Mandatory : No
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Let 4 be a 2 x 2 matrix with real entries. Let [ be the 2 X 2 identity matrix. Tr(4) denotes the

sum of diagonal entries of A. Assume that At=1
Statement : If A # [ and A # —I thendet4 = -1
Statement I [f A # Jand A # —[ thenTr 4 £ 0

TN ?baa;ﬁoS :)ojc‘.a A 2 X2 Hrd8 000 [ 03 2 X 2 Args FD(WETOD. A =1
™ S8R

DOFGI1: A= 1 208050 A = — wowd det4 = -1

DX I1: A # 1 Sodako A = —1 wowd Tr A # 0 (A awg), &)

Options:

Statement I 1s true, statement II is true: statement II 1s a correct explanation for statement I
: DA GHA0 [ 80k IT 00 2w, HAF DG [ DA A0 I & b8R8

Statement I 1s true, statement IT 1s true; statement II 1s not a correct explanation for statement I
, 3 20F6H20 T 3060t [T 00 Jiw, 570 HAF AW 1T AT [ R G066

Statement I 1s true. statement II 1s false
- DAF G0 I D250 57 1T D23 ¢

Statement I 1s false. statement II 1s true

DO T D280 5760 57 1T dadw
4, ®

Question Number : 9 Question Id : 5447341129 Display Question Number : Yes Is Question

Mandatory : No

The sum of two lower triangular matrices is always

G0t &S BZLR JrGSL DDA DV ET

Options:

1. %
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an upper triangular matrix
28 DD IV AIDS 9 HBVD

an lower triangular matrix

> 208 AMOD BZVR 2GS VBB

a diagonal matrix
28 :Jsg SHBE 9B

a scalar matrix
WS O3 QTGS BV YPHBoD

Question Number : 10 Question Id : 5447341130 Display Question Number : Yes Is Question

Mandatory : No

1 2 3 4

iZOZD T iZUZl T i2022 + i2023

1

Options:

Question Number : 11 Question Id : 5447341131 Display Question Number : Yes Is Question
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2
What is the product of all the valuesof (1 — i )5S =

2
(145> e, Yy NI vgm Doeh?

Options:

1w 2

5 % 20

Question Number : 12 Question Id : 5447341132 Display Question Number : Yes Is Question
Mandatory : No

For the equation x> — 5 |x| — 14 = 0.

x2 —5|x| — 14 = 0 26T DE Aoeren

Options:

all roots are real

w:)l SAATPLTRN) T ReTEN)
1.¢ -

all the roots are imaginary
. O dwreren sdyorew
2.8

Two roots are real

2 % Colld Q0T T RTD
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No real roots
T°RD darered Q)

Question Number : 13 Question Id : 5447341133 Display Question Number : Yes Is Question
Mandatory : No

If @, B and y are the roots of the equation x* —3x? + x +5=0theny = Y a’ + afy

satisfies the equation

x* =332 + x4+ 5= 0 2a086e78 @, f 28050 y 0 Srergd. y = Y a’ +afy

AAPETROTTHR DaDEEHAD D&?
Options:
v 4+y+2=0

= —§-2=
2.9

P+3yP—y—3=

34+4y24+5y4+20=0

Question Number : 14 Question Id : 5447341134 Display Question Number : Yes Is Question
Mandatory : No

1 1
1 1 4 — =
fmn=3and—+—= ? then the valueof 0.1 +0.1™ 4+ 0.1" 1s

m n

1 1
1 1 4 Mol &
mn =3 $Bak) — +— = — wand, 0.1 +0.1™ +0.1" e od?

n
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1
143
| o 02401
1 1
014013 +0.1°2
2.
4 1

, g 014 0.13 +012

1

1
0.1+01% 4+0.1°2

Question Number : 15 Question Id : 5447341135 Display Question Number
Mandatory : No

Which of the following condition imply that roots of the equation (T) Y’ + by +c=0are integers?

1
(—I) 1’ + b + ¢ = 0 0868 Arvswe RPSR0RRD ST o), & 808 T’ DB da?

Options:

b2 —c>0

1.%

b & c are even integers

b& c e "eoa;’oamsw
2. %

2 . ' . .
b™ — ¢ 1s the square of an integer and b 1s an integer

b® — ¢ 8 QPT0E HGAN 2B b & QPT oEHL
: 8 v £ 0 ]
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b & c are integers

b & ¢ 0 Yrurosaen
4, ®

Question Number : 16 Question Id : 5447341136 Display Question Number : Yes Is Question
Mandatory : No

(19—-1)

The value of Xr—o C; + 1564 1s equal to

¥ O | IS e

Options:

21
1. % 64

R
2. %

20
Ty
3.9

16
|y
4, %

Question Number : 17 Question Id : 5447341137 Display Question Number : Yes Is Question
Mandatory : No

The number of integers from 1 to 1000 which are divisible by 2 or 3 1s
2 Sor 3 B erhodied Doaden 1 Aoc 1000 &5°)e5° D) GotTon?

Options:
1.8 88
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2.v 67

3. % 98

4.% 47

Question Number : 18 Question Id : 5447341138 Display Question Number : Yes Is Question
Mandatory : No

There are 10 poimts on the line AB excluding A and B and 8 ponts on AC excluding 4 & C.

Number of triangles formed with these points not considering A, B, C 1s

A, B, C Dot S AB 208050 AC Bwp Sdoare 10 dudasn 8 Dotrdhen &) o.
A,B,C o0 DA, & DokdiHod 6yE 950w Roa

Options:

18 10
C3— "G5

5 % 360
3, 640

4 % 280

Question Number : 19 Question Id : 5447341139 Display Question Number : Yes Is Question
Mandatory : No
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6> +7x +6x-3 A

B Cx+D ~ 50. _ 50 o
If D) 1 + ~ + s andn=A+B+C+Dand"°C, ="C, thenr=

6x°+7x’+6x-3 A . B . CxD

(x-1)(x+3)(x*+1) i x-1 T x+3 T x?+1

Options:
1, % 40

2. % 43

3, % 39

4.v ¥

AP EAPCET 2021

wdaon=4+B+C+D,°°, =" wawdr=

Question Number : 20 Question Id : 5447341140 Display Question Number : Yes Is Question

Mandatory : No

sin — sinﬂ sins—n- sin?—}T —
16 16 16 16

Options:
uE
1.v 16
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Question Number : 21 Question Id : 5447341141 Display Question Number : Yes Is Question

Mandatory : No

If sin@ + cscB = 2. then the value of sin'® 8 + cscl? 8 =

sin@ + cscf = 2 900 sint® 0 + csct? 9 =

Options:

1.2

Question Number : 22 Question Id : 5447341142 Display Question Number : Yes Is Question

Mandatory : No

. sin 1° 1
Given— = = cotx® — cot(x + 1)°. then the value of — —
sinx’sin(x+1)° sin45°sin 46°

1 1

: : + 4 : 18
sin46°sin47° sin 89°sin 90°

sin 1° 1 b 31 i 1 1
: e o caxe — COLX" —POILX + 6D, : = .
sinx®sin(x+1)° A sin45°sin46° sin46°sin47°
1
e—— DRVIL) DATFIRNEG
sin 89°sin 90°
Options:
1. % sin 1°
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o COt1”

g —COt1°

o, cosec 1°

Question Number : 23 Question Id : 5447341143 Display Question Number : Yes Is Question

Mandatory : No

H Cos *x=S8in"*(3x)thenx =
Cos™ 1 x = Sin™1(3x) o x =

Options:
V10

1.¢ &

(oo

JE
2. % O

Question Number : 24 Question Id : 5447341144 Display Question Number : Yes Is Question

Mandatory : No
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If the angles A, B, C of AABC are in arithmetic progression. then
QZ0DRE0 ABC &° A, B, C S 0838 &° &obl

Options:

1¢b2:a2+c‘2—ac

5 c? =b%*+a* —ab

. x @ =Db*+c*—bc

. u € =at b

Question Number : 25 Question Id : 5447341145 Display Question Number : Yes Is Question
Mandatory : No

Ina AABC. cosec A (sin B .cos C + cos B .sin C) equals to
ABC Bzv28 & cosec A (sin B .cos € + cos B .sin €) 85 2Ard008

Options:
c

1.% Q

2.8 €
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Question Number : 26 Question Id : 5447341146 Display Question Number : Yes Is Question
Mandatory : No

What is the greatest angle of the triangle whose sidesare x> +x+ 1, 2x+1, x2 17

Frx+l 20+ 1 0% - 1 ghadooo o G5z (B3 Sedw dod?

Options:

1 A=120°
5> % A =90°
3 % A= 135°
4 % A=060°

Question Number : 27 Question Id : 5447341147 Display Question Number : Yes Is Question
Mandatory : No

ABCDEF 1s a regular hexagon. The sum of the vectors BE, BC, EF, BA, CF, AF

— e—  — — —— —

ABCDEF 8 8 AENE. BE, BC, EF, BA, CF, AF © 28630 20820

Options:
1.8 BF
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Question Number : 28 Question Id : 5447341148 Display Question Number : Yes Is Question

Mandatory : No

If ABCDEF 1s a regular hexagon with AB=a and BC = b then CE equals

ABCDEF g00coyee’ AB =7 &o8atn BC = h ea0d CE =

Options:
1.% b-a
2. % ~b
.o b—2a
. % @—2b

Question Number : 29 Question Id : 5447341149 Display Question Number : Yes Is Question

Mandatory : No

R divides the line joining two points P and Q whose position vectorsare i +2j — kand —i +
J + k respectively in the ratio 2 ¢ 1 externally. § divides PQ internally in the ratio 2 : 1, Then the

position vector of the midpoint of the line joining R and S 15

P(i+2] - k),Q(-1 + ] + k) Dockoyodo $8> Bar w0e=R) R Dot 2 : 1 May@¢°
(TR, § Docdo) 2 ¢ 1 AT’ BoBEAVTRT D2 0§ RS Dot g-w S

Options:

1« =

AP EAPCET 2021
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Question Number : 30 Question Id : 5447341150 Display Question Number : Yes Is Question
Mandatory : No

If @ is a vector of magnitude 7. b is a vector of magnitude 8, then the maximum value of |F ﬂ 1S
0 088rnan 7, b 8arniw 8 eowd [a.b | A6h dews
Options:

s
5 and (a .b ) =—
" il and (@ .b) Z

28 and (a’.b) e
2, % 3

A

56 and ('&"F) ==
3, % z

4‘\#56 and (@ .b)=n
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Question Number : 31 Question Id : 5447341151 Display Question Number : Yes Is Question

Mandatory : No

The number of vectors of unit length perpendicular to the two vectors @ = (1,1,0) and b= (0,1,1)1s

a

Options:

Infinite

4 % BP0

(1,1,0) &80 b = (0,1, 1) 2E305 oS0 Goft AL DA%

Question Number : 32 Question Id : 5447341152 Display Question Number : Yes Is Question

Mandatory : No

Ifthe vectors @ = i — ] +2k b =20+ 47 + kandT = A1 + ] + pk are mutually
orthogonal then (4, i) 1s equal to

OB T =1-] +2k,b =21 +4] + kBT =41 + ] +uk a8wdES
DO Golie) 0NN (4,1) =

Options:
R

. % (&3

AP EAPCET 2021
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s % 3—2)

Question Number : 33 Question Id : 5447341153 Display Question Number : Yes Is Question
Mandatory : No

Leta,b and ¢ be the three vectors. If [a] = 1. |E| =17, [c'| = 8 and the angle between a’

and b is 6 and @ X (Fxg)—c_:{}. then cos 6 + cosec 6 =

@, b,T o680 (] =1[b| =17t =8, T, bo o) Enan § 2B

—

a ><(Exﬂ—?=0wwécosﬁ+cosecﬂ=

Options:
409

1.v 136

309
, % 136

419
126

409
126

Question Number : 34 Question Id : 5447341154 Display Question Number : Yes Is Question
Mandatory : No
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fad=t2i+etj + kandb =27 +t2j +logt kand f(t) =@ .b . then f'(1) =

a=tlitetj+k, b=2i+t2] +logt kBatw f(t) =a.b eowd f'(1) =
Options:

1 % 3 + Se

3 % 3+ 3e

4 % 4 + 3e

Question Number : 35 Question Id : 5447341155 Display Question Number : Yes Is Question
Mandatory : No

The arithmetic mean of the following discrete data 12, 14, 20, 23, 25, 32 1s given by

12,14, 20,23, 25,32 09 G8ro32000% easmﬁsmm dod?
Options:

1.8 -
2 % 21.75

3.v 41

4 [0S

Question Number : 36 Question Id : 5447341156 Display Question Number : Yes Is Question

[ ]
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Mandatory : No

A box contamns n coins. m of which are fair and the rest are biased. When a biased coin 1s
tossed, the probability of getting a head 1s twice as likely as tail. A coin 1s drawn from the box
at random and 1s tossed twice. It 1s found that first time 1t shows head and the second time it

shows tail. Then the probability that the comn drawn 1s fair 1s

w8 DO’ n TEPL Gotra. M TR0 DB, WA DEFB0d” Gotrow. DEFS
o DB ') Sy BI5"F0 &G S0l Dot BhW ). 28 Tedo D Ao
03P E\SorT & 0008 08050 Botd) 1) DIBILE. B0 IS &30,
Godb&“ﬁ e GORVA BRI, BRYE Teio ATV WITS Dowr(d?

Options:
m

1 % 8n+m

O9m

> 8n+m

im

3 % 8m+n

I9m
S8m+n

Question Number : 37 Question Id : 5447341157 Display Question Number : Yes Is Question
Mandatory : No

. O} 2 :
If A and B be independent events with P(4) = 7 and P(B) = — then the value of P( 4/ BC) is

A 308080 B 93 2(dod w0 P(4) :-;- 8030 P(B) = -i- owd P(A/BL) deod dods?
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Question Number : 38 Question Id : 5447341158 Display Question Number : Yes Is Question

Mandatory : No

A man 1s known to speak truth 7 out of 10 times. After throwing a die with 100 faces marked
1,23, ......,100 on1t’s faces, the man reports that he got a prime number on the die. What 15
the probability that 1t 1s actually a prime?

28 38 10 368" 7 > oo By BOT Gofd. 03 100 Swaren o) w8 IV
(Swarep 1,2,3, ...... ..., 100 R0 aa"(low) &80t) S0 VIR Roa .‘baao& 890
Dé&oﬂéf.g))cb 98 AR DTN R0 5P ePRS RoEP(S

Options:
5

(o B

7
3, R

11
16

AP EAPCET 2021
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10

4 % 16

Question Number : 39 Question Id : 5447341159 Display Question Number : Yes Is Question
Mandatory : No

X
Let X be a random variable with probability distribution function, P(X = x) = K (%) X =
1,2,3,.... Then value of K 15

X
X 03 afry3\¢ cor 38 Romfd Derad pdewaw, . P(X=1) =K (+) .x=

1,2,3,..... 0008, K Qa0 dodh?

Options:

Question Number : 40 Question Id : 5447341160 Display Question Number : Yes Is Question
Mandatory : No
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. e s 1 1
For a binomial distribution B(n, p) mean = 200, standard deviation = 10. then n® + p—z - q_2 =

1 1
B(n,p) GGG a8 Bos0e (00 200 Frrs dsodiw 10 wand n’ + = + e

Options:

.« 1,60,004

, % 1,60,006

. o 160,008

, % 1,60,002

Question Number : 41 Question Id : 5447341161 Display Question Number : Yes Is Question

Mandatory : No

A straight rod of length 4 units slides such that its ends ‘4" and ‘B" always lie on the x and y

axes respectively. Then the locus of the centroid of AOAB is

4 osar) T o w8 $6 T D36 4, B 00 JUDYER SGIT X, y eF0R
GotadtaNd, 0AB GE0ud0 dwE) Sogario Doddiein

Options:
2 < R
;% X +y =4
2 5 sl
5 % X +yc=3
9
X2+ y?=—
3, % =~ 28
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Question Number : 42 Question Id : 5447341162 Display Question Number : Yes Is Question
Mandatory : No

Find the transformed equation of the curve x% + 2v3xy — y* = 8 when the axes are rotated

m
through an angle i

PO -g- S0 om0 B3\ 17 + 243y - 7 = 8 gy, Erdrodd HeemAw
SRY)e.

Options:

x2 4 y2 +24/3xy = 8

1. %

« X2 +y2—2v/3xy=8

2
3 % x2—y2 4+ 2/3xy =8
ol x2—y2—-2yJ/3xy =8

Question Number : 43 Question Id : 5447341163 Display Question Number : Yes Is Question
Mandatory : No

If the line px — qy = r intersects the coordinate axes at (a,0) and (0, b) then the value of
(a + b) 1s equal to

pxX — qy = 1 R06¢ 89 o (q,0) 2080k (0,b) © 98 dobd (a+D)
Options:
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r(q+p)
Pq

r(q—p)

r(p—q)
3 % Pa

r(p—q)
4% P4

Question Number : 44 Question Id : 5447341164 Display Question Number : Yes Is Question
Mandatory : No

If a pair of lines drawn through the origin forms an 1sosceles right-angled triangle with the line
2x + 3y = 6. then those lines are

Suredotia) Mot T, 21 +3y = 6 VEVENS w8 Vorsn MWAETY J5ard)
D688 Dot ¥ PRVEGTT

Options:

1-\:;?JL'—Sy=|‘J, 5x+y=0

g XY=, EF3y=10
5x—y=0,x+59=0

4 % x—3y=0,3x+y=0
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Question Number : 45 Question Id : 5447341165 Display Question Number : Yes Is Question
Mandatory : No

The number of lines that can be drawn through the point (4,-5) at a distance of 10 units from
the point (1,3) is

(1,3) Dockoe) Noct 10 aar 8y Grtods” o, (4, ~5) Dockdey) ot Ay Faven Aosdeid?

Options:

% 1

Question Number : 46 Question Id : 5447341166 Display Question Number : Yes Is Question
Mandatory : No

If a point *P" on the line 3x + 5y = 15 is equidistant from the coordinate axes. then P lies

3x+ 5y = 15 8250 ‘P’ Hothded) AEFDSTV Aok VAT Grdeds Gold. a0, P
GoCOA.

Options:

Only in the first quadrant
& i G JeE3a0e” BTG

Either in first or in second quadrant
VG T Totisd e’

v

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

Either in first or in third quadrant
20 To@ e e

Only in the third quadrant

j w SOPED FBA0eS° AT

Question Number : 47 Question Id : 5447341167 Display Question Number : Yes Is Question
Mandatory : No

Find the length of the intercept cut by the pair of lines 2x% + 4xy —4y? —6x -8y +7 =0
over the y-axis.

20 + 4xy — 4y% — 61 — 8y +7 = 0 R0¢8r0b(f) 800 y-0£500p Bk Wod60ca

T VRN

Options:

j % V12
11

3.V

4 % VI3

Question Number : 48 Question Id : 5447341168 Display Question Number : Yes Is Question
Mandatory : No
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If the lines x? 4 2xy — 35v% — 4x + 44y — 12 = 0 and 5x + Ay — 8 = 0 are concurrent then
A equals

6w800 1% + 2xy — 3572 — 4x + 44y — 12 = 0 2805w 51 + 1y — 8 = 0 LKA
oo 1 e

Options:
1.% 0

Question Number : 49 Question Id : 5447341169 Display Question Number : Yes Is Question

Mandatory : No

If the equation 2x® + kxy — 6y* + 3x + y+ 1 =0. (k > 0) represents a pair of straight
lines. then their point of intersection is

2% 4y = 6y% 4314y +1= 0. (k > 0) 5208000 8 RO Baranom) ) ardi. ¢
00 Dotd Dotddey)

Options:
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Question Number : 50 Question Id : 5447341170 Display Question Number : Yes Is Question
Mandatory : No

If one of the lines eiven by the equation 2x% + axv + 3v?* = 0 comcide with one of those given
g ’ . 4 -

by the equation 2x* 4 bxy — 3y* = 0. while the other two lines are perpendicular to each other.
then the values of a and b are

262 + axy + 3% = 0 pE6mA0 Arded HEvBDUS’ 28 8, 202 + bxy — 3y? = 0
DOEBRAN ArDoD PEVBLS’ ¢ 508 D50, WADS Boc Bwen wEmrIE L

Wotlol™ &) owd, a, b © DV

Options:

s, wa=—4&b=-1
. =4 & b=1

4_Ja=—5&b=—1

Question Number : 51 Question Id : 5447341171 Display Question Number : Yes Is Question
Mandatory : No
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The circumcentre of the triangle formed by the pomts 4 (1 , JST) B (—1 _. —\@) and (3 : —u@)

18

A(1,3). B(-1,-V3) 2Bt (3, -3) Dotiregen 6,08 Saoasn Gwe),
By 380a0

Options:

- (1,—V3)

1. %

Question Number : 52 Question Id : 5447341172 Display Question Number : Yes Is Question
Mandatory : No

The equation of a circle with center at (-2, 3) and circumference of 47 units is

(~2,3) SoBanrrar, $eEud 4r ahrdl) MM (o 38 ASEHA

Options:

| % X2+ y*+4x—6y—9=0
2 +y24+4x—6y+9=0

3. Y : .

3 % x2+yi+4x—-6y—-3=0

4. %
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x*+y?—4x+6y—9=0

Question Number : 53 Question Id : 5447341173 Display Question Number : Yes Is Question
Mandatory : No

If a circle of a constant radius 6 passes through origin 0 and meets the coordinate axes at A and
B. then find the locus of the centroid of triangle 0AB.

fgd 353'23.1} 6 (0 28 JyBaw Hredodi) 0 Mot Tdr, AEFISTTOM 4 Sdokw B
DotV ¢ Doty 0AB SRR Sodaraiw aws), DodddE

Options:

1 % X*+y*=4
, x X2 +y*=36
;¢ X2 +y?=16
4 % x“+y°=6

Question Number : 54 Question Id : 5447341174 Display Question Number : Yes Is Question
Mandatory : No

If the point (1,1 + 1) lies inside the circle x? + y? = 1, then

X2+ y? =1 3208 (1,14 1) 9086 Do) L900S, 95

Options:

1 % A>5.0
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Question Number : 55 Question Id : 5447341175 Display Question Number : Yes Is Question
Mandatory : No
The perpendicular distance from the point (1, 2) to common chord of the circles x* + y* —

2x+4y—-4=0and x* +y* +4x-6y-3=0 is units.

(1,2) Dothosdy Mot x% +y2 —2x +4y—4 =0 2800 x* +y* +4r—6y-3=0
TV &) & S VoETEAN LN

Options:
13

(-1
o
w

x V

—
(¥

|

N

<
<.
p—
W
o))

k=

V63

—
W

<.
[
W
o

Question Number : 56 Question Id : 5447341176 Display Question Number : Yes Is Question
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ES=x?+y*+2x417y44=0.8"=x*4+y* 4+ Tx+ 6y +11=0and §" = x* +
y2 = x + 22y + 3 = 0 are three circles. then the length of tangent from their radical center to

S=01s unifs

S=x*+y*+2x+17y+4=0,5 =x*+y* + Tx + 6y + 11 = 0 Dbt §"” = x* +
V2= x+22y 43 = 0 03 Jardd g0 2070 Sogo I6 Aol § = 0 TS AN
20,09 T VRN

Options:
1. % V53

2. v V57

/15

3. %

4.% V17

Question Number : 57 Question Id : 5447341177 Display Question Number : Yes Is Question

Mandatory : No

If (2,0) is the vertex and y-axis is the directrix of a parabola. then its focus is

(2,0) D 3gwrr dat y-ed) LSBT R HoTSVEHAN awE), TD

Options:
., % (2,0)

3.v (4,0)

AP EAPCET 2021
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ox 0.0

Question Number : 58 Question Id : 5447341178 Display Question Number : Yes Is Question
Mandatory : No

If the lines 2x — y + 3 = 0 and 4x + ky + 3 = 0 are conjugate with respect to the ellipse
5x% + 6y — 15 = 0. then *k" equals

5x% + 6y° — 15 = 0 BgHdam Cﬁag‘é 2x—y+3 =0 20800 4x + ky 4 3 = 0 e

Roak) G0 0. Do

Options:

1.“1

4. ¢ ©

Question Number : 59 Question Id : 5447341179 Display Question Number : Yes Is Question
Mandatory : No

The equation of hyperbola whose eccentricity is o and distance between the foci 15 10 units 1s:

5
~ 63,050 ndaty 10 ahrd TErjedto 0 ESITD HAEEAIY:

Options:

, % 16x* —9y® =16
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16x% — 9y?

I
O

2. %
x 16x% — 9y? = —144

16x% — 9y* = 144

Il

4. &

Question Number : 60 Question Id : 5447341180 Display Question Number : Yes Is Question
Mandatory : No

If the orthocenter and circumcenter of a triangle respectively are (3,—4,2) and (2,1,3).
then 1ts centroid 1s

28 HRORY) VorSo@AaN S0BA%N DBJYS Sogren SAAM (3,-4,2) Mdaiw (2,1,3)
Do HE &) LS. T SoerRdA 96 €0COR.

Options:

Question Number : 61 Question Id : 5447341181 Display Question Number : Yes Is Question
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5. X =

If the direction cosines of a straight line are (? = ,?) .then ¢ =

i 5 3
28 DO¥ B &S S (— ,— ,—) 0. ¢ =

c c C

Options:
1. % X V2

Question Number : 62 Question Id : 5447341182 Display Question Number : Yes Is Question
Mandatory : No

A line AB in three dimensions makes angles 45° and 120° with the positive x-axis and the
positive y-axis respectively. If AB makes an acute angle 6 with the positive z-axis, then 6

equals

8 900 AB G a8 v, y-uxod SR 450 Sibat 120° Srre 83, ¢S 2-
g8 AB Bosw whg £2:30

Options:
1. % 30°

2. % 45°
3, v 99

a4, % 79°
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Question Number : 63 Question Id : 5447341183 Display Question Number : Yes Is Question
Mandatory : No

: . ¥ . 2 o % : .
A variable plane —+ Yy + —= 1. which 13 at a umt distance from the origin cuts the
a e

. , st e N
coordinate axes at A, B and C. If the centroid (x, y,z) of AABC satisfies— +— + — = k.
Ty

then k" equals

A0redod) Aod) 28 AP Ardaw £dAR f+ % Z = 1 fardoid 28 B0 30

(

ArosToR 20800 4. B © 36 € ooy, ABC 92 Sodaradw (v, ,2).
1
4

| 1
5+ =7+ 73 =k Jo0Ar) Rod008R. k' dewd

Options:

1.¢ 2

Question Number : 64 Question Id : 5447341184 Display Question Number : Yes Is Question
Mandatory : No

If [ .] denotes the Greatest integer function, then f(x) = [x]* = [x%] is discontinuous at

[] 688 rros Hasrd) 200, f(x) = ) - [x%] g ¢ D)) 207
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Options:
All integers

" ©) YT oS DO
1. %

All integers except 0 and 1
0 S080in 1 8Dy 8) JPT°0S Dedew

All integers except 1

5 1 80y Q) JPTros DD

All integers except 0
0 &y ) QrTres DD

Question Number : 65 Question Id : 5447341185 Display Question Number : Yes Is Question
Mandatory : No

2

3 W S dy y ;
Ify="Tan* . then the values of —and — respectively are
+cosx ax dx
1-cosx dy d* y
y =Tan™! 90, — B0 — © DLVHLD I
' 1+cosx dx dx?
Options:
1% 1.0
x 3
2. B %
1
— 0
3. 2
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=
=t
2

4, ®

Question Number : 66 Question Id : 5447341186 Display Question Number : Yes Is Question

Mandatory : No

dy

SInX then —=
dx

If y=(tanx)

. d
y = (tan x)*"* ecnd. e
v dx

Options:

o (tan x)*™* {sec x + (cos x)(log(tan x))}

" (sin x)®™* {secx + (cos x)(log(tan x))}

2 (tan x)*™* {sec x — (cos x)(log(tan x))}

(sin x)™™* {secx — (cos x)(log(tan x))}

4. %

Question Number : 67 Question Id : 5447341187 Display Question Number : Yes Is Question

Mandatory : No

: _, {acosx —bsinx d?y
It y=Cos then —= =
a’ + b® dx
acosx —bsinx d’y
y =Cos™ { } aNd. — =
Ja® + b? ax

Options:
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, x a—b
, xatb
3.% 1
4.v Y

Question Number : 68 Question Id : 5447341188 Display Question Number : Yes Is Question
Mandatory : No

g 2% . 1 ; R 1
The derivative of Sec 1( Ty ) with respect to V1-x% atx = ) equals

1'—i;565 “'ll—r?'céﬂ‘ Sec-l( : )t‘}bstuaan
= g Ng T & NEETE Raar

Options:

Question Number : 69 Question Id : 5447341189 Display Question Number : Yes Is Question
Mandatory : No
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For the function f(x) = x® —6x* —12x —3. x =2is a

f(x) = x3 — 6x% —12x — 3 HOIIE x = 2 28

Options:
point of maxima
(100 DoY)

1™

point of minima
. 598 Do)

point of inflection

3 Do) Do)

not a critical point

2080 Do) 570
4. % -

Question Number : 70 Question Id : 5447341190 Display Question Number : Yes Is Question
Mandatory : No

The value of ‘c’. of the Lagrange's mean value theorem. for f(x) = Vx® —x , x €[1,4] s

flx)=vat=x , x €[1,4] H0airds Girod dogdure fogvoaaw‘ ‘" R0

Options:
4

1.8 3

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

Question Number : 71 Question Id : 5447341191 Display Question Number : Yes Is Question
Mandatory : No

For the curve y = 5x — 2x°. if *x” increases at the rate of 2 units/sec. the rate of change in the
slope of the curve at x = 3 18 /sec

Y =5x—2x° 35708 '’ §'Q Debriddw B S0 2 alrdkw wowd, x = 3 3¢ &
S5 A0E). TS A Aredy Bew 83

Options:
72

1. %
2. % 27

4, % —27

Question Number : 72 Question Id : 5447341192 Display Question Number : Yes Is Question
Mandatory : No
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If the relation p(subnormal length) = g(subtangent length)? holds true for the curve by* =

.D
(x+ a)s. then the value of E =

by? = (x + )® 58 p(&dwotda Tesp) = g6 Tesp)” ok dosard)

DoBy00, == 0
q
Options:

8

1.8 &k

8b

3 % 27b

27
4. % 8b

Question Number : 73 Question Id : 5447341193 Display Question Number : Yes Is Question
Mandatory : No

2

The point on the curve x? + y? = a?, y = 0. at which the tangent is parallel to the x-axis. is

—_—

oyt =, y 20 3508 A% w8 90,0 1-0xD8 HAredbor Gotl. T 6,
DoY)

Options:
1‘ - 4 (ﬂ ’ O)
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3 (0,a)

s 00

Question Number : 74 Question Id : 5447341194 Display Question Number : Yes Is Question
Mandatory : No

J- 3°(F'(x) + f(x)log3) dx =

Options:
1% 3 fx)+e

3*log3 + ¢
3 3 fO)+e
4% 3+

Question Number : 75 Question Id : 5447341195 Display Question Number : Yes Is Question
Mandatory : No

G =

J' ¥ +sinx

1+ cosx

Options:

X
i X cot (?) +
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»
cot 7 +€
2. %
X
| tan —2" +C
3. %
5 4
X tan ? + C
4.

AP EAPCET 2021

Question Number : 76 Question Id : 5447341196 Display Question Number : Yes Is Question

Mandatory : No
f [ Jcosx —2sinx

, dx = Alog|5cosx + 4sinx| + Bx + ¢, then 4 and B are
4sinx+ 5cosx

1' 3cosx—2sinx

, dx = Alog|5cosx + 4sinx| + Bx + ¢ ©ond, 4, B Janden
4sinx + 5cosx

Options:
22 =
A=— = —
1 % 41 41
e 7
A=— & B =
41 41
2.
—22 —7
==—& B=—
3 % 41 41
22 7
A== B
4. 41 41
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Question Number : 77 Question Id : 5447341197 Display Question Number : Yes Is Question

Mandatory : No

—1 5
| e=pe= % -

Options:

2log|x — 3| +log|x— 2|+ ¢

1. %

log|lx—3|—log|lx—2|+¢

i ™

log |[x — 3] —log |x + 2| + ¢

(x —3)*

x—2

log €

4.9

Question Number : 78 Question Id : 5447341198 Display Question Number : Yes Is Question

Mandatory : No

n/4

[ X tan(l + _172) g =
—n/4
Options:

1.« 0

AP EAPCET 2021
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Question Number : 79 Question Id : 5447341199 Display Question Number : Yes Is Question
Mandatory : No

n
i= f X {sinz(sin x) + cos”(cos .1-')} dx ,then[I]= ___ .Here[.] denotes G.LF
0

[= ’ X {31112 (sinx) + cosz(cosx)} dx wond,[I]=__,[.] 108 JPT08 DA
0
Options:

. % 3

Question Number : 80 Question Id : 5447341200 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021 _
collegedunia:s

India’s largest Student Review Platform

el



AP EAPCET 2021

The equation of a curve passing through the point (0, 1), given that the slope of the tangent to

the curve at any point (x, y) 1s equal to the sum of the x-coordinate, and the product of x and

y coordmates at that point. 15

208 3850 (0, 1) Docioed) Dot JHeidd) &. Sodasn & S & Vg Dodod) (x, y)
¢ (P 01658 T2 &8 Dot VS, ¥-AEFVSAN HBALY X, J-AAFVTY VPV
20g°D8 DATHAD BALONS, &8 3¢ DA

Options:
2
1 % Y= 1—Ze(x /2)
; (xz_IZ)
r=—1+4+2e€
- 3 + i€
y=—1—2 e(ngz)
3. % °
A -
2
1*=1+23(x /2)
% -
Physics
Section Id : 54473423
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:
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Question Number : 81 Question Id : 5447341201 Display Question Number : Yes Is Question

Mandatory : No

Generation. propagation and detection of electromagnetic waves is the basis of

Do, 08 BG0rTL 68, Do L0Bat) (firoisies w3 & d0b TS G Lo’

Options:
LASERS
S8

Reactors

Basirscd
2. % =

Radio and television

5 o 8Co3r & 80D

Computer

1% sn.ubsegé

Question Number : 82 Question Id : 5447341202 Display Question Number : Yes Is Question
Mandatory : No

Zero error belongs to the category of:
B B30 0938 9 DarrAdL BodIA?

Options:
Constant errors
D6 B0

1. %
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Instrumental CI1ITOrS
5 FOrAS BNEW

Personal errors
- Dy B

Random errors

, o CITEEE B30

AP EAPCET 2021

Question Number : 83 Question Id : 5447341203 Display Question Number : Yes Is Question

Mandatory : No

The slope of velocity — time graph for motion with uniform velocity 1s equal to:

D808 D5 £HAD BORANS” DABN-BVHAD D TUWL VATIIE DB?

Options:

Initial velocity

. SO Dridw

Final velocity
SOO DA
2. %

Zero

BIPRO0
3.9

Constant velocity
DG DA

4. % @

AP EAPCET 2021
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Question Number : 84 Question Id : 5447341204 Display Question Number : Yes Is Question
Mandatory : No

[f the equation of motion of a projectile 1s given by y = 12x — 5 x% and its horizontal

component of velocity is 3 m. s, then find its range. (g = 10 m.s™2)

E 3
28 DED HAY) VR 2EBEAN y=12x - Rt S £ VACeSG o
3m.s™!, DED SY T dod? g = 10m.s~*

Options:
1 % 124 m

> 21.6m

3 x 30.6m

4 % 36.0m

Question Number : 85 Question Id : 5447341205 Display Question Number : Yes Is Question
Mandatory : No

A force-tume (F —t) graph for a linear motion 1s shown in
following figure. The segments shown are circular. The linear

momentum gained between 0 and 8 seconds 1s:

036" SHAD BOBA Y WORY-TVAN [T
SrORdA6. 0 08050 8 2800 S Toded Bak 6y
St dodh?

Options:

1 % —2m N.s
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2'\\;,;,"0 N.S

Question Number : 86 Question Id : 5447341206 Display Question Number : Yes Is Question
Mandatory : No

A body of mass 2 kg 1s acted upon by two forces each of magnitude 1 N, making an angle of 60°

2

with each other. The net acceleration of the body (in m.s™) 1s:

LN 887030080 (1) B0t weren, 8 TS DTS 60° Erndw SR 2 kg 3303 (o
S0P DI SRR D. &8 SR ) DS BBradn (m.s™ ") dod?
Options:

. % 05

2. % 1.0

~ &

3.¢

w| S

Question Number : 87 Question Id : 5447341207 Display Question Number : Yes Is Question
Mandatory : No
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A bullet of mass m 1s fired from a rifle of mass M. If v’ be the velocity of the bullet. velocity

acquired by the nifle is:

M @503 o 0208 oG, M @S(0°3 i g bv‘)wdé&. EGE a0g) DA v 900d,

B JoB Deidw
Options:
—_— _M__}
e g
1. % m
VT
=1
2. M
3, % V=¥
4% V =+%p

Question Number : 88 Question Id : 5447341208 Display Question Number : Yes Is Question
Mandatory : No

In perfectly mnelastic collisions. the relative velocity of the bodies:
Sy Eﬂ%@%‘i)g DNTHA0E°, DAY FPDE DA

Options:
before impact is zero
292 DT°HAVALY oD wa‘)zgnn

1. %

before impact is equal to that after impact
x ODIOITBH0 B Dend DT HBHL SHETH DLVDL VATV

3.¢
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after impact 1s zero
9DDTHA ST wésm

is characterized by none of the above

" DD DSBotIT D)

Question Number : 89 Question Id : 5447341209 Display Question Number : Yes Is Question
Mandatory : No

A shell of mass ‘m’. moving with velocity ‘v’ suddenly breaks mto two pieces. If one of those

parts having mass m/6 remains stationary. find the velocity of the other part.

m 9703 SOAN w8 A0S ocd v S’ SERVAD) e ot 8] wor oo,
@6 m/6 3303 SRR 208 syo DAY’ GofS, Boll 08 A8

Options:
bv

1. O

5 % 2V

Question Number : 90 Question Id : 5447341210 Display Question Number : Yes Is Question
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The distance between the carbon atom and the oxygen atom in a carbon monoxide molecule 1

o : 1 .
1.1 A. Given. mass of carbon atom 1s 12 @.m. u and mass of oxygen atom 1s 16 a. m.u.

Calculate the position of the centre of mass of the carbon monoxide molecule.

5‘005 AT TG S’ 9’095 DOATEY) B0 uéﬁb DO G ErEaD
L1A . 56, D6arm0i) a8, G0 12 a.m. u, 83y8S DT dog), ¢03
16 a.m.u . 60 APTFE VY Ars), @03 Soss g«a:m (E302)e0.

Options:
6.3 A from the Carbon atom

| % TS Do) H00d 6.3A

1.0 A from the Oxygen atom
> % S &S DAV ot 1.0A

0.63 A from the Carbon atom

i S°6)Q DEATENY Aot 0.63 A

0.12 A from the Oxygen atom
, o B3)BS 03P ol 0.12 A

Question Number : 91 Question Id : 5447341211 Display Question Number : Yes Is Question
Mandatory : No

A circular disc 15 to be made by using equal masses of aluminium and iron. To get maximum

moment of inertia, about its geometrical axis. 1t should be prepared i a way that

28 TSV DT AR BT 0 LurIae LBAHY A0S BabrdIs.
o Z{EoBa% B0 Mot (B ACA] PSS Todwis) 2 JSINMT &I Soird
BoDIT?

Options:
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Aluminium 1s at the interior and the iron surrounding it

@wbsaaz)ojs;ﬁ» "D HBAiL YA BT T
1.¢ e

Iron 1s at the interior and the aluminium surrounding it

> % QAW S°HO B3 M&)Doﬁm &R ot

Aluminium and iron are used in alternate layers
9R(DDACHDN SHOHN RNV DT 03 TGV T T

Aluminium and iron discs should be kept one above the other
- r{EDICDIN 2BAHD RAD DYV 28 T P T WA

Question Number : 92 Question Id : 5447341212 Display Question Number : Yes Is Question
Mandatory : No

The moment of inertia of a body about a certain axis is 1.2 kg.m?. Initially, the body is at rest.

In order to produce rotational kinetic energy of 1800 J, an angular acceleration of 30 rad.s™
must be applied about the given axis for a duration of seconds,

BN O DOOT 28 HQY AGS PSS 1.2 kg.m’. 0SS 50 J8yo 23¢°
God. 30 rad. s~ Sl B0 $BRGoc, 1800 T Zdom AH9ED 6\d Botbedd &
BFRS STAVD SON RERI

Options:

V10

1. % 3

V30

2.« 3

3"
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1
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Question Number : 93 Question Id : 5447341213 Display Question Number : Yes Is Question

Mandatory : No

A simple pendulum. suspended from the ceiling of a lift. has a period of oscillation T, when the lift is at

rest, If the lift starts moving upwards with an acceleration @ = 3g. then the new period will be

w8 wwd'osiw, 89 p aridw ol Jucbabed, 83 M8y .’8605“ R T Eurrded soo
sBhas0d) B, B &6 B3¢ a = 3 Si0nsd sBBINNS, B §Y EVTSEH S dod?

Options:
1.% eT

0w 4T

Question Number : 94 Question Id : 5447341214 Display Question Number : Yes Is Question
Mandatory : No
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A body of mass 4.9 kg hangs from a spring and oscillates with a period 0.5 s. On the removal of

the body. the spring is shortened by (Take g = 10 m.s7%, % = 10)

49 kg @703 o SR w8 Nyoh Aol Hercbaed, 0.5 s eIgIMS Eomw
SobocioR) &. HWP VAR, D)oft TEY od Bded?(g = 10m.s~,1* = 10)

Options:
1‘ 3 6.3 m

> % 0.63m

3 ¢ 6.25¢cm

4 % 63 cm

Question Number : 95 Question Id : 5447341215 Display Question Number : Yes Is Question
Mandatory : No

If ‘R’ 15 the radius of orbit of a satellite. then the kinetic energy of the satellite 1s

AV WO SEBID) 28 58 &V 53’5 35&8:»3 R 29003 & aos), 1533
B8 09085 TS0 Eocod?

Options:

1
m—-
R
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Question Number : 96 Question Id : 5447341216 Display Question Number : Yes Is Question

Mandatory : No

If ‘A’ 1s the areal velocity of a planet of mass ‘M. its angular momentum is:
M’ G303 (o (¥ DTy it ‘A owd oo S G S0 Jod?

Options:

Question Number : 97 Question Id : 5447341217 Display Question Number : Yes Is Question
Mandatory : No
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Find the Young’s modulus of the wire whose stress-strain curve is as shown i the following figure:

& Sob BrDUGR DBUVO-IEYA [T Aok éﬂcﬂné& ofof 26380 dod?

B "
4 ]
| :
$E 61 /!
32 i
~n 4 i
w o |
L |
EX 21 :
- I
e S S >
0 2 4 6 8 10 12 gpain (DED)
(x 107%)

Options:

. x 8X10" N.m™2

, % 24x10'" N.m™

. x 10X 10" N.m™2

4, v 2% 101 N.m™2

Question Number : 98 Question Id : 5447341218 Display Question Number : Yes Is Question
Mandatory : No

A solid float such that its (1/3)™ part is above water surface. Then. the density of solid is
1
08 20 *bm“gm) T &0d0a0 ? 3 i devdor esblg_gané, 83 0N ‘.’Jwg Fodd

Options:
| % 744 kg.m™3
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Question Number : 99 Question Id : 5447341219 Display Question Number : Yes Is Question

Mandatory : No

A wooden block floating in a bucket of water has (4/5 ) of its volume submerged. When
certain amount of an o1l 1s poured mn to the bucket, 1t 1s found that the block 1s just under the o1l

surface, with half of its volume under water and the other half in o1l. The density of oil used,

relative to that of water 1s

w8 WSHY° &) S’ 28 BE), AR SR BB (4/5) S Doty NS" 20IRG.
w38 00 B0 SHAD Ard 57, B B 0B 1 2rrio AIS'AP,  WrkePrdw
ARG &) 8. 0o AS" T BN APD g Fodd Jod?

Options:
1

4

1. %

3
2@ O

o |

UJlU'I
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Question Number : 100 Question Id : 5447341220 Display Question Number : Yes Is Question
Mandatory : No

When a meter rod made of silver at 0 °C 1s heated to 100 °C. its length increased by 0.19 em.

Then find the coefficient of volume expansion of the silver.

0°C 3¢ &) 8 Do Dol sé 100 °C & D¢ Sohecdd. Y\ ) awe), TEYS'D
26010650 0.19 cm. @0 Dodk S AWE) DVHBIF T (Dragan Jod?

Options:

, u 068%1075 ¢

5 u BRI g

-5 opr—1
. o Bl it %

4 » TEL X IO g

Question Number : 101 Question Id : 5447341221 Display Question Number : Yes Is Question
Mandatory : No

Newton's law of cooling holds good provided the temperature difference between body and
surrounding is

40:9) SoBaty HORTY s T dEr ko Jod ol AP 98D¢6m DoHBIL 200067

Options:
very large
R~ .Dsbb;:a
1.%

2"
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Large
D8I D

Small

L o B8

very small

, 1 T DD

Question Number : 102 Question Id : 5447341222 Display Question Number : Yes Is Question
Mandatory : No

When the ideal gas 1s compressed 1sothermally. then its pressure

28 G6) TAWP FArTEr IS’ Doddfo BB, T DEAI

Options:

Increases
1 o Palebiablnt

Decreases
%bm

remains the same
095 QoI Gofo

first increases and then decreases
VG DOH ST e:‘aga.‘\‘n

Question Number : 103 Question Id : 5447341223 Display Question Number : Yes Is Question
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Mandatory : No

Which of the following 1s the best contaimer for a gas during adiabatic process?

So® T T0i0Y) 3{36‘3 D30HL Hot) T8 S

Options:
Glass vessel
e e

Copper vessel
- o°h >

Wood vessel
?E), TS

Thermos flask

66F £
4'\%(45 Lo ),

Question Number : 104 Question Id : 5447341224 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?

Column-I Column-II
, T
(a) Ratio of AQ/AU in an isobaric process (1) :
(T;-T2)
; ; ; : B T>
(b) Ratio of AQ/AW in an 1sobaric process @) —
(T;-T>)
(c) Coethicient of performance of a refrigerator (111) %1
(d) Coefficient of performance of a heat pump (iv) y
So8 TR 2 DO ?
SAR-1 SER-II
T
2) w8 ARG HEHS’ AQ/AU G3ng). AN j L
(a) Dsabe’ AQ/ ;S ) ==
b) 8 HdbEd HEabe’ AQ/AU cing dind i —
(0) o2 Q/ y Neady& (11) T
() 36Dg0m abogin dE) SatrIud MHEssw (i) ——
y-
(d) 28 62 Doy TOS) DIBK eSS (iv) y
Options:

o (a—iv),(b—iii),(c—ii),(d—1i)
, « (a—ii),(b—1i),(c—iv),(d —iii)
,  (a—iii),(b—i),(c—ii),(d—iv)

5 B (a—iv),(b—ii),(c—iii),(d—i)
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Question Number : 105 Question Id : 5447341225 Display Question Number : Yes Is Question
Mandatory : No

Two identical sinusoidal waves each of amplitude 10 mm. with a phase difference of 90° are

travelling with the same direction m a string. The amplitude of the resultant wave is

287,66 10 mm S0 D80S $0A, 90° cs7eicso S8R Bochd &w-% 29 Sboaen 28
A 28 B3¢ Dot ow. ©od DO Sbol S00% HBDLS Jod?

Options:

| % O mm

5> & IO\E mm

3 % 5\5 mm

4 % 20 mm

Question Number : 106 Question Id : 5447341226 Display Question Number : Yes Is Question
Mandatory : No

The focal length of a convex lens 1s ‘f’. An object 15 placed at a distance ‘X" from its first focal

point, The ratio of the size of the real image to that of the object 1s

w8 S208S"6 LS A0S THB6A f. e T Dot Aol X’ GBI’ w8

S0 Gotred. A DO Dowind HOSTEFS, 5208 HBAPETIS o D

Options:
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3. ¢

N
®
| =

Question Number : 107 Question Id : 5447341227 Display Question Number : Yes Is Question
Mandatory : No

An 100 eV electron s fired directly towards a large metal plate having surface charge density
—2 % 107%m™2, The distance from where the electron be projected so that it just fails to

strike the plate 1

28 100 eV Qoo S8)1T 6958 durodd —2 X 107°em™ v DA &' D 3Y
DOTE. QTR Jod AP od DBS DS BEE LS’ DDVNYBE?

Options:

1 % 0.2Z2mm

> 0.44 mm

3 % 0.66 mm

- 0.88 mm

Question Number : 108 Question Id : 5447341228 Display Question Number : Yes Is Question
Mandatory : No
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What 15 the direction of the lines of force at any point on the equipotential surface?

R 38) &HOSVIVP BT DoY) DG Ll s &3 &DOSrS

Options:

Parallel to 1t
| % RATOBEI0

Normal to it

R4 3LIATeS)

Be mclined
% odh TS S0t

Random direction

, x O8 28 0%

AP EAPCET 2021

Question Number : 109 Question Id : 5447341229 Display Question Number : Yes Is Question

Mandatory : No

A umt positive charge has to be brought from ifinity to a midpoint between two charges 20 uC

and 10 uC separated by a distance of 50 m. How much work will be required?

50 m Gr6:3008" 360 D68 20 uC $08at 10 uC 3T 2065{ Dochrd) G 8 DA
GRSTR) 6308 GRG0 Mol SLI TS Sab SORY DY __

Options:
, » 108X 10*J

, » 108X 1037

, x 1.08Xx10°7
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4 % 0.54X10°]

Question Number : 110 Question Id : 5447341230 Display Question Number : Yes Is Question
Mandatory : No

Current through the branch BD. in the given A oA AAAA et ¢
cireuit 1

15V T 30 T

30V
D0o8S" BrDd H00HANE" BD BT Ddered

365)56 Dod? l

Options:
6.6 A

1. %
2.v 204

s % 434

4 % 324

Question Number : 111 Question Id : 5447341231 Display Question Number : Yes Is Question
Mandatory : No

A galvanometer may be converted mto ammeter or a voltmeter. In which of the following cases

the resistance of the devices so obtamned will be largest?

28 TR DR wﬁb&aﬁ Gor S DO 76\ Senw. & 808 Rodimyue HBSG
G08), AT ARSI Gotory?

Options:
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Ammeter of range 1 A
1A o o vbaéeaé

1%

Ammeter of range 10 A

104 &g o wh:&eaé
2. % L

Voltmeter of range 1V

1V om0 o Se5aoeb
3. % -

Voltmeter of range 10 V

10V o752 o Sgoes
4. =

Question Number : 112 Question Id : 5447341232 Display Question Number : Yes Is Question
Mandatory : No

A toroid of n turns, mean radius R and cross-sectional radius a carries current /. It is placed on a

horizontal table taken as xy-plane. Its magnetic moment m

n 86 oo, R i 353"2.5», a wcé:é‘ej STV &DA% w8 O'rand 1 0 Ha

DT ) $0A 60) 0. 06 xy ©3 8 £32 VAToSE SVANY Gort.dB. LoD T ANE)
OO 08 FPESD
Options:

1s non—zero and poimts mn the z-direction by symmetry

HFH{B0 T J0B0I0 FSyFo VTEAW z- ©F B3 GotdR
1. %8

points along the axis of the toroid (m = m¢)

5 i Soroné cawe), o 835° Socod
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is zero. otherwise there would be a field falling as —at large distances outside the toroid

1
B[, STOE wab LD roe 38 — & & L) 58 Goco
3. ¢ =

1s pointing radially outwards

m}s&éo:b:mrr 2O Sotod
4. % -

Question Number : 113 Question Id : 5447341233 Display Question Number : Yes Is Question
Mandatory : No

When a piece of a magnetic substance 1s put in a uniform magnetic field. the flux density inside 1t 15
four times the flux density away from the piece. The magnetic permeability of the material is

w8 O3, 08 D) 68 2500 o) 0 EIANG’ GoYY TR &0 W Frogd
008 AT Fodds 4 B &) 8. Land & OGN dg) 030 08 D 3

Options:
1

1. %

Question Number : 114 Question Id : 5447341234 Display Question Number : Yes Is Question
Mandatory : No
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A magnetic field given by B(t) = (0.2t — 0.05 t%) T is directed perpendicular to the plane of
a circular coil contaming 25 turns of radius 1.8 cm and whose total resistance 1s 5 Q. The

power dissipation at 3 seconds 1s nearly

B(t) = (021 - 0.05%) T 20 8 00303708 £8:50 25 Srichotn, 18 cm T8, 5.0
200820 A s 2,8 JTT°0 AR VLR BRVBGeD DA, Lond 3
REEVIEY s»mg’s 320 ROATENT dod?

Options:

13.‘4-;1.W

2 8 %

L ¢ 23 pW

4 o 125 4W

Question Number : 115 Question Id : 5447341235 Display Question Number : Yes Is Question
Mandatory : No

A coil having 500 square loops each of side 10 em 1s placed normal to a magnetic flux which

increases at a rate of 1 Ts™ . The induced emf 1s

500 228 S90S w8 WAGTTEY SRSl 2080 10 cm. oAV 1757 B0 DAMSD)
28 0D 08 ODTIS VoLBT Gotrd. LS HBS D@SG‘QUSBJUD Dodd?

Options:

% 01V

, % 05V
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1V

4. SV

Question Number : 116 Question Id : 5447341236 Display Question Number : Yes Is Question
Mandatory : No

The current and emf through an inductance differ by phase by:

208 6830 &' DANS DITLPA0 HB0IN DEET VSWVOL HIE[ BT LD

Options:

Question Number : 117 Question Id : 5447341237 Display Question Number : Yes Is Question
Mandatory : No
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A radio receiver antenna that 1s 4 m long 1s oriented along the direction the electromagnetic

— . o -1 -2 ————
wave and it receives a signal of mtensity 8 X 10 ® W.m™%. The maximum instantaneous

potential ditference across the two ends of the antenna 1s

4 Qo0 Teiad) (1 BA™ S6oIme [TEPS BoBT) DGO, 08 BGors BIS' Gotwod.

208050 28 8 X 107 W.m™” 838 (10 23T Jochehrod. BB CWE) Totd
Q300 Dot (182 S5 OIS £ dod?

Options:

. o B

, v 31puV

L x 314V

. x 7760V

Question Number : 118 Question Id : 5447341238 Display Question Number : Yes Is Question
Mandatory : No

Photo cells convert

5 20050 BID D DEHOMT BIEND?

Options:
light energy into mechanical energy

| Sod #8D airogssdm

heat energy into electrical energy
Th. 35 DS IS
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light energy into electrical energy

S0 RS :31:5355 38T
3. ¢ i e

electrical energy into light energy

Dc:’:o}sé 23 SToHBSMT
4, ® = =

Question Number : 119 Question Id : 5447341239 Display Question Number : Yes Is Question
Mandatory : No

Which of the following 1is the property of Rydberg constant?

Sod 75" A& 8& &b ?gu"osan OIS, G56) A7

Options:
It 1s universal constant
©0d I 6B %@asm

It 1s same for all hydrogen like atom

i 08 rERD A V'OD DEIATrDHVL WETTT Gotod

It depends on the atomic number of the atom
98 DO EDR) cﬁ.nsb D0T°ED "rbna_.':5 2 B0 DEO

It depends on the mass number of the atom
8 DOJTEDRY ANE);, GD] T°F o 2 TG DERD

Question Number : 120 Question Id : 5447341240 Display Question Number : Yes Is Question
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If current in diode 1s five times that in R, and breakdown voltage of diode 1s 6 V. find the value of R?

NGB0 &' RyDE(S IS 5 0t S GaIré: Mot ATRYY) B, Galré aog), Foad
ST% 6V wawd, R devd dod?

R
— WV
¢ b R =10

Options:
. % 2000Q

2000
2w 3
, % 1000 Q

1000

— )
4.% 3

Chemistry

SectionId: 54473424
Section Number: 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
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Enable Mark as Answered Mark for Review and
Yes
Clear Response :

Question Number : 121 Question Id : 5447341241 Display Question Number : Yes Is Question
Mandatory : No

In the electronic configuration of which of the given elements. ‘Aufbau principle” or (n + )

rule 1s violated?

308 830" @ Arvdo QOS), JVSD 33’5?’0:: BT oo ST (n + 1) NoDATAS
:)Ci)g&‘mrﬁ“ Got?

Options:
Mn

1. %

Ga

3, v 18

- Pu

Question Number : 122 Question Id : 5447341242 Display Question Number : Yes Is Question
Mandatory : No

To which orbital among the following may an electron having zero angular momentum belong?

§ 1‘30'50 Qﬁéﬁﬁn %\J"FﬁSoﬂ‘ Ao o)EJESa‘sS én& uﬂa@gé‘ N Uﬁaﬁ]‘éé ﬁoﬁﬁbﬁ'ﬂam?

Options:

1J33

2. % 3P
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3. % 3d

on ¥

Question Number : 123 Question Id : 5447341243 Display Question Number : Yes Is Question
Mandatory : No

The electron 1 an hydrogen atom jump on absorbing 12.75 eV of energy would jump to orbit

w8 rEad DOSrmPS’ WD 1275 ¢ $8 TRoDDN D I $5(6"D8 566%
BotioR?

Options:

7. % 3

Question Number : 124 Question Id : 5447341244 Display Question Number : Yes Is Question
Mandatory : No

Effective nuclear charge 1s maximum in case of

DS SoBS DB OS[BS (0 VSIS

Options:

Lithium

1 % Ao
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Beryllium
5w £68abo

Oxygen

3 % asébae,é

Fluorine

o T3

Question Number : 125 Question Id : 5447341245 Display Question Number : Yes Is Question

Mandatory : No

Identify the incorrect order corresponding the mentioned property?

S08 RI(AED 3LV WDG AP G0y ATy 365" DA DO s°?

Options:
AIzOg < MgO < Nﬂzo = Kzo : BaSiCif}"
Al;03 < MgO < Na0 < K,0 : 3680

1.8

NH; < PH; < AsH; : Acidity
% NHB < PH3 << A.S'Hg . tﬂ&?ﬁ)és::

Lit <« Nat < Kt < Cs™ : Ionic radius

Lit < Nat < Kt < Cst : eo035rDE a‘?s&dc
3, % @

Li < Be < B < C * First lJonization enthalpy

, Li<Be<B<C: 200658 OATIBND Doty
4,
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Question Number : 126 Question Id : 5447341246 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Helium & Beryllium have similar outer electronic configuration ns?

Reason (R): Both are chemically inert

D840 (A): rdaso, E6dato v 2,8 P JUTD DT ns’ 63 8
$°660:30 (R): Toci G000 B¢ W3 $0A &otro

Options:

Both (A) & (R) are correct & (R) is the correct explanation of (A)
. (A) 208030 (R) Sodior 28 90082 £H08aiw (R), (A) £ D0 220008 DS0e

Both (A) & (R) are correct but (R) 1s not the correct explanation of (A)
, % (A) 208050 (R) Totir 28 0080 08030 (R), (A) £ 28 9008 D508 576

(A) 1s correct but (R) 1s mncorrect
. (4) 20 ©od 59 (R) 98 20038 570

Both (A) & (R) are incorrect

4 v (A) 80 (R) Bocir 08 003D 5°

Question Number : 127 Question Id : 5447341247 Display Question Number : Yes Is Question
Mandatory : No

Which among the following represents zero overlap?

$0d T°2¢5° A By w@&w&)l ArDRH?

Options:
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2. %
|
------ % : s
3.¢
0 z
----------- >
4, ®

Question Number : 128 Question Id : 5447341248 Display Question Number : Yes Is Question
Mandatory : No

According to “Molecular orbital theory”, which among the following diatomic molecules only

has m-bonds?

o) 0,ere fag'néu 25°0o, S0 APDOWD BI6ATS OLVNVS’ T-LOTFL) SIS
DAY ey DB?

Options:
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Question Number : 129 Question Id : 5447341249 Display Question Number : Yes Is Question
Mandatory : No

If two molecules of 4 and B having mass 100 Kg and 64 K g and rate of diffusion of A 1s
12 X 10™°. then rate of diffusion of B will be

A . B &3 3ot oo o troven SWAM 100 Kg & 64K g ev aso 4 aiog),

TR0 12 X 10~° eoad. B aog), TR Bew

Options:

-3
e 15 x 10

-3
L 6410

-3
5 » 36%10

. -3
4 % 10X 10

Question Number : 130 Question Id : 5447341250 Display Question Number : Yes Is Question
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A cylinder contains a mixture of 5 g of N, and 6 g of Ar gases. If the total pressure of the
mixture of the gases in the cylinder is 30 bar. then the partial pressure of N, gas 1s

(Molecular mass of N, = 28 g mol ™. Atomic mass of Ar = 40 u)

51 N, 08050 6 17 Ar TP050:)00 (0 T QD30 W J GBS &) 0. & 030
Ando 6o 30 trben wowd, N, Takw) dws), F48 dédo
(N, wengdd(o? = 28 g mol™2, Ar OrESo°3= 40 1)

Options:

@ 16.36 bar

, 4 0.545 bar

3 » 30 bar

4 % 0.180 bar

Question Number : 131 Question Id : 5447341251 Display Question Number : Yes Is Question
Mandatory : No

The equivalent weight of Fe in Fe, 05 1s (Atomic mass of Fe = 56 g mol™)

Fe,05 &' Fe o), B0 &6 (Fe aing), D6t 33(0°2 56 g mol™")

Options:

, » 186

. » 280
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. 14.0

Question Number : 132 Question Id : 5447341252 Display Question Number : Yes Is Question
Mandatory : No

Calculate the amount of hydrogen gas required in order to produce 100 g of ammonia by the

reaction of N, ) and H, (g) 23588,

Ny ) 00050 Hy ) Sr0b0QR ow) 100 g © ) AArD ES\S BOHLL SOVID
TERS T0INY) PO
Options:

. % 35299

, o 1765g

3 % 28.11 g

4. % 349

Question Number : 133 Question Id : 5447341253 Display Question Number : Yes Is Question
Mandatory : No

The heat liberated when 1.89 g of benzoic acid 1s burnt in a bomb calorimeter at 25 °C
mcreases the temperature of 18.94 kg of water by 0.632 °C. If the specific heat of water at
25°C15 0.998 cal / (g — °C) . then find the heat of combustion of benzoic acid.

25°C 56 1.89 g Boara§ A7) roth SEBMLEES’ Giro Boloti DL0SE G
18.94 kg © O &g 0.632 °C 20dod. 25 °C 3¢ A Do 0.998 cal / (g - °C)
O3 Hozr0§ B TS BRI Do
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Options:

_ 2540 kJ mol™?

> » 1975 ki mol™!

3 3240 kJ mol™?

-1
4 % 2825 kI mol

Question Number : 134 Question Id : 5447341254 Display Question Number : Yes Is Question
Mandatory : No

For strong acid and strong base neutralization net chemical change 1s
H* + 0H™ - H,0 (I) AH? = —55.84 kI mol™*. If enthalpy of neutralization of CH;COOH
by NaOH is 49.86 kJ mol™" then enthalpy of ionization of CH;COOH is

LODRD BV, WUV T SOVSERAS" HOS 6§ H' +0H™ — H,0 (1) Ay =
~55.84 kI mol™. CH;CO0H & NaOH & ) d086r 66" 9056 dorrdy
49.86 kJ mol ™ eoowd, DS s Ging) LAHAEGE dogrdy

Options:

3
1 5.98 kJ mol

 —5.98 kJ mol™!

2. %

3 % 105.7 kI mol™*

 —598 kI mol™?
4, %
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Question Number : 135 Question Id : 5447341255 Display Question Number : Yes Is Question
Mandatory : No

Which of the following statements 1s true when equilibrium 1s established in the reaction?
A+B=C+D, K. =10

A+B2C+D, K, = 10 6] 205208 B0E3) 2y $0d HISTOE" DB dadw?

Options:

. [€10D] = [A1(B]

, « [€1= 412 [B] = []

, » [4l[B] = 01 [C][D]

4 » [A1=[B]=[C]=[D] =10M

Question Number : 136 Question Id : 5447341256 Display Question Number : Yes Is Question
Mandatory : No

The reaction N, @t 3 H, @ < 2 NH, © 1s exothermic and reversible, A mixture of
N, @ H, @ and NH 3) 1s at equilibrium in a closed contamner. When a certain quantity of
extra H, @ i1s introduced mto the container. while keeping the volume constant, then which

statement among the following 1s true?

Ny 3 Hyg 2 2 NHj ) 636 28 62ar3¢ S0k eodial B6;. 48 2D &odd
' Ny, o) 1) 208080 NH; 0 Dr3odn :om;gaes‘ &) 8. o INBATET)
Q00T &old &8 I’ o OE0d Hy ) K0 SDIY)E $08 TS’ BB DB

Options:

Vi
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The pressure inside the container will not change
Jee8e5° Do ATBAD.

Equilibrium condition will not change

: mmw.%@:a :Jbimnef'a 6.

The temperature will increase

G (58 DA,
3

The temperature will decrease
(B SO,
E9 N

o

4. %

Question Number : 137 Question Id : 5447341257 Display Question Number : Yes Is Question
Mandatory : No

The volume strength (in L) of 3 N H,05 1s approximately

3N H,0, Gromsm qing), 08085560 meEs (degs®)

Options:

1. % 3

Question Number : 138 Question Id : 5447341258 Display Question Number : Yes Is Question
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Mandatory : No

Bleaching powder can be obtained by which of the following reactions?

&S 3D BB DO DDofl 6 B0ITES EDAT(FHEID?
Options:

A

: ’ A
., €a(OH); + Cly —— C€aOCl, + Hy0
A
3 % Bﬂ(OH)z " 3 BTZ —_— BGOBTZ + Hzo

A
- CG(OH)2+F2 —D C(ZOFZ +H20

Question Number : 139 Question Id : 5447341259 Display Question Number : Yes Is Question
Mandatory : No

Aluminium (IIT) chloride forms a dimer because aluminium

Dodabo (II1) S 28 BeENSANR 6\ EWLL) (0 560, LRrDAaD0
O 3 06 8 & ) )

Options:

belongs to Boron famuily.
S50 808002 DS BoEOA BT

1. %

has a very high 1onization enthalpy.
. 98 I8 D AT IBND Doc:;rbh $OA Eoot) dod

c

3, v
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can have higher co-ordination number.
DS, RBHLOD Do SR Gotwod sTL)

1s next to Magnesium.

% | 201 a0k BTG Jurvse 5T
Y o

Question Number : 140 Question Id : 5447341260 Display Question Number : Yes Is Question
Mandatory : No

Which of the following species do not exist?

S0 PBOVS” DO D6\ 93-3‘5559'?

Options:
- [SiFs]*~

. 2—

3 % [G'E?Clﬁ]z_

4w ISiF]

Question Number : 141 Question Id : 5447341261 Display Question Number : Yes Is Question
Mandatory : No
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Which of the following practices will not come under green chemustry?

(1) Using soaps made of vegetable oils instead synthetic detergents, whenever possible.

(11) Using H,0, for bleaching purposes instead chlorme based bleaching agents,
(111) Using liquefied C0, for dry cleaning clothes and laundry.
(

1v) Using plastic cans for neatly storing substances

S0 TIS" rDS 6F00A TR HBRY’ G STOED) ABoro:

(i) w3508, 53 Cxols LS LARIT )8 Rotiots Porod Baeg FLONURY TEL.
(if) 56 &3TrdS Doz SARVL AT H,0, B TEb.

(i) atpe0 0Bk erog, & 06l §68 €0, & Tcob

(iv) S0P HEDEOLL Fd8 GeTy O DA otiob)

Options:

(i) only
| () Sred

(ii) only
Ly (i) Srgd

(iii) only

L (i) 2rgd

(iv) only
, o (i) 3-8

Question Number : 142 Question Id : 5447341262 Display Question Number : Yes Is Question
Mandatory : No

Which among the following possesses a sp carbon in its structure?

Sod "coéoyéa"ve‘j‘ GRS sp S°C)S SVE?
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Options:
CH, = CCl — CH = CHBr

1. %

5 % CBry

4 % CoHs = CCls

Question Number : 143 Question Id : 5447341263 Display Question Number : Yes Is Question
Mandatory : No

In thin layer chromatography. a substance moved by a distance of 4 cm. where as the solvent

moved by a distance of 5 cm. Then the value of retardation factor (Rf_] 15

28 D0 T &85 Hariand’, g 4 cm, g 5 om S6936. Svedsio
DEsan Ry densd

Options:

. 08

2. % 1.0

3. % 9.0

y 125

Question Number : 144 Question Id : 5447341264 Display Question Number : Yes Is Question
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Identify the products (P). (Q) and (R) formed from the following reactions:

BHS ﬁdisvé‘ (P). (Q). (R) ey e SER

uv
+ Cl, (excess) > (P)
Q%0 500 K

wa"g AlCl;
Anhyd. AIC]
+ Cl, (excess) Ty (0)
(Dlat-1) Dark, Cold
OH
Ni, 473 K
+ H, (excess) > (R)
(DIALT Under Pressure
&3 Do H¢
Options:

(P): Benzene hexachloride (Q): Hexachlorobenzene (R): Cyclohexanol

1 (P): o2 33"5"359.5 (Q)I:J"S"bgﬁﬁ ALEAS (R):.Eg :3"5"‘)325

(P): Hexachlorobenzene (Q): Benzene hexachloride (R): Cyclohexenol
, x (P):sE0 8085 (Q): D08 rs§0&  (R): 2§ r5yd6&

(P): Benzene hexachloride (Q): Hexachlorobenzene (R): Cyclohexane

(P): Bodd rs\§0& (Q): 7s"\EE Bod (R): p§ 8y
3.8

(P): Hexachlorobenzene (Q): Benzene hexachloride (R): Cyclohexane

(P): 2586 B0 (Q): 808D =rs\E 06 (R): p§ 8y
4, % " . .

Question Number : 145 Question Id : 5447341265 Display Question Number : Yes Is Question

AP EAPCET 2021 .
collegedunia:s
India’s largest Student Review Platform

el



Mandatory : No

AP EAPCET 2021

Match the following?
S08 TR BDDGE0G?
Reaction Nature of reaction
&30 o / PR RR
; (1) Partial reduction
(El) RBr . 3 3".{5 £0DS60
NAOH (11) Electrophilic addition
(b) RCOO Na' —— 0 HOS DoswNA
Ca0,A =
| (111) Wurtz reaction
Lindlar’s
() R—-C=C-R > &Q
Catalyst (H,) .
(1v) Decarboxylation
Br,/CCl
(@) H,C=CH, —2t GST8\5S
(v) Decarboxylative dimerization
CET)$y085 E00RAS
Options:

, » (a—iii),(b—v),(c—i),(d—ii)

2.

(a—iii),(b—iv),(c—1i),(d—ii)

; x (a—ii),(b—iii),(c—i),(d—ii)

4 x (a—v),(b—i),(c—iii), (d—ii)

Question Number : 146 Question Id : 5447341266 Display Question Number : Yes Is Question

AP EAPCET 2021
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Mandatory : No

If each edge of a cubic umt cell of an element having atomic mass 120 and density
6.25 g.cc™" measures 400 pm, then the crystal lattice is

WS DTTE A VY AS), DA otk JE) 400 pm. & APVSAN HEATD QD‘SU"?
120 20808 o 6.25 g.cc”L. & ‘r’b)é’JS VSN

Options:

Primitive

| % TS

Body centered

5 o e9ocd: SoHh

Face centered
DL Sodd

End centered

o SoHd

Question Number : 147 Question Id : 5447341267 Display Question Number : Yes Is Question
Mandatory : No

Which among the following is a colligative property?
A0S DD q&o**&veﬁ“ SeaE6 36) A0 AT~ Y

Options:

Surface tension
@ve&&‘)ﬁé

e ™

2.9
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Osmotic pressure
BT DNGEI DEDID

Optical rotation

_ (3)e969 S0 ZJEI
- R

Viscosity

4 % "2G°

Question Number : 148 Question Id : 5447341268 Display Question Number : Yes Is Question
Mandatory : No

2 ¢ of a non-electrolyte solute (molar mass is 500 g mol™) was dissolved in 57.3 g of
xylene. If the freezing point depression constant Ky of Xylene 1s 4.3 K kg mol™". Then the

depression 1n freezing point of Xylene 1s

29 wwqﬁv Frado (@03 500 g mol™!) & 573 g0 ﬁbSe‘i‘ elgllarel) ﬁbﬁ
g, 200259 T )& oo Ky Deosd 43K kg mol” ! wavd 003 awe)
2003 3 A0y 8

Options:
1 R 57.3 K

, o 03K

. x 43K

. 0.002K
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Question Number : 149 Question Id : 5447341269 Display Question Number : Yes Is Question

Mandatory : No

A catalyst 1s a substance which

E&3\6E200 BSos DD

Options:
Changes the equilibrium concentration of the products
RDOTRD DG ESYBB0 TTESRO 276>

Changes the energy of the reactants

> o SO 2RB L WoB0S IS JPdN

Shortens the time to reach equilibrium

mmwfgaz) SO :Ddbmm
3. v

Changes the equilibrium constant

| RTD DTC0SIN DAVD DTN
4, % .y

Question Number : 150 Question Id : 5447341270 Display Question Number : Yes Is Question

Mandatory : No

AP EAPCET 2021
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Compounds A and B react according to the equation 24 gy + B5) = 2C(g) + Dyy).

The imtial rate of formation was determined at different initial concentrations of A and B . The
following results were obtamned. The rate law for this reaction may be [All

concentrations are m mol/lit]

A S0boin B "ro'.fbg#m 2A(g) *+ B(g) = 2((g) + Dyy) EBEA W5 G :‘.365 2.
88602 TS0 HEZM 6{ 8602 (o[ ANV ago».m Sofd BTroRNL VDOWD AN &
£50] OOE), B0 o) $x08) 0. [0 meden mol/lit & wdEdd)]

Exp No Initial [A] | Initial [B] Initial rate of formation of €
DOIrAAD | ©ed [4] | @60 [B] C d6\G e3602 St
1 0.1 0.1 6x 1073
2 0.3 0.2 7.2%1072
3 0.3 0.4 2.88 x 1071
4 0.4 0.1 2.4%107?
Options:

Rate = K[A]? [B]
. ot = K[A]? [B]

1
Rate = K[A] [B]?
5 dew = K[A] [B]?
Rate = K[A] [B]
2 oen = K[A] [B]

Rate = K[A]? [B]°
, w 080 =KI[A4]* [B]°

Question Number : 151 Question Id : 5447341271 Display Question Number : Yes Is Question
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Mandatory : No

If the rate constant for a first order reaction is k. then find the time required for completion of

80 % of the reaction.

S DO SAr0s B[ 0S), G ngnSu R0 k 900, & 36§ 80 % Ird b
:JE!:_ID N0

Options:

3.2

2. k

0.8
o K

Question Number : 152 Question Id : 5447341272 Display Question Number : Yes Is Question
Mandatory : No

Colloids can be purified by

Sorond TrorTo Te(O° DBBVBAD DAY

Options:

Condensation
|y BOBOOAN / Do0BBA
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Peptization
22286850

Coagulation

L o NpocdB

Dialysis

a_F
P GO M

Question Number : 153 Question Id : 5447341273 Display Question Number : Yes Is Question
Mandatory : No

Shape of XeF, molecule is

XeF, ) 85,8

Options:

Pyramidal
1 % DGR

Square planar

, SPeb LI R AT Ve TS Pob b

Triangular planar

_ RSB0 GZD200

Linear

DA
4, ®
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Question Number : 154 Question Id : 5447341274 Display Question Number : Yes Is Question
Mandatory : No

Which reaction(s) among the following produce Dinitrogen?

[ASTREISENS DS\ GES T SO[eD & Sobd Jo¢3e5° DD?
() NHyCligg) + NaNOy, . —
(i) NH,CONH, + 2 H,0 —
(1) Ba(N3), —
(iv) NH,Cl+ Ca(OH), —
Options:

(i) & (iii) only
1 (i) & (iii) Soegdhadd

(ii) & (iii) only
5 % (ii) & (iii) Sorghadd

(iii) & (iv) only
3 % (ili) & (iv) Soegded

(i) & (iv) only

4w (i) & (iv) g

Question Number : 155 Question Id : 5447341275 Display Question Number : Yes Is Question
Mandatory : No
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HCLO, 1s a stronger acid than H,S0, due to which of the following reasons?
(1) Oxidation state of Cl in HCIO, 1s +7 and that of S 1n H,50, 15 +6
(i1) Cl1s more electronegative than S
(111) HCIO4 1s monobasic, whereas H,50, 1s dibasic
(iv) Cl04 part of HCLO, can break O — H bond more easily to liberate a proton than S0,
part in H,50,

& 8o S°0mVS’ BABVN H,50, 877 HCLO, twddd &8

(i) HClO, & Cl es8\86t o[ +7 Sdasw H,S0, & LN Roa)| +6

(i) S S0 Cl dey e (e 8 58A &%) 8

(iii) HCIO, 95756 080 0w, H,50, B0 8w

(iv) 0~ H womy, HCLO, & ertiod Cl05, H,S0, &' et 505 $37)
WeZSESMT DEFE TS & DGR Rirsdordd

Options:
(1), (ii) & (iii) only

_— (1), (ii) & (iii) Soegdd

(1), (i) & (iv) only

, o (i) & (iv) 2

(i), (iii) & (iv) only
3 % (1), (iii) & (iv) g

(ii), (iii) & (iv) only
4w (i), (iiD) & (iv) 2>

Question Number : 156 Question Id : 5447341276 Display Question Number : Yes Is Question
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, 2- 3+ ,
The geometries of [N i(CO) 4] ' [PrC [ 4] and [C o(NH;) 6] respectively are:

[Ni(co),]. [PtCI4]2_ 208030 [CO(NH3)6]3+ © 3530 SERTT

Options:

Tetrahedral. Tetrahedral and Octahedral
SO0 D, WA D, RI0D

Tetrahedral. Square planar and Square pyramidal
SB060) D, DRSO BAIGRIW, BBV APE(S EI0

Square planar. Square planar and Octahedral

3 % RBL WAVCV0, VBV WSOC0D, wg;ﬁnﬁ

Tetrahedral. Square planar and Octahedral
o, tﬁe‘.&.‘:d.)&i), DS ISV, eﬂxﬂszi)

Question Number : 157 Question Id : 5447341277 Display Question Number : Yes Is Question

Mandatory : No

Vitamm-A 1s called

DLIVD A & ™ 20

Options:
Ascorbic acid

AJ).B:\8 050
T i e

Retinol
) @ 3835
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Calciferol

s*d\Ho°eS
3, % Ay

Tocopherol
¢5°8 DoreS
4, %

Question Number : 158 Question Id : 5447341278 Display Question Number : Yes Is Question
Mandatory : No

The following reaction 1s a/an

806 56| A0E), B0

KOH
CH; — CH, — CH, — Br > CHy— CH =CH, + KBr + H,0

Options:

Substitution reaction
DAEDE? O

Addition reaction

5 % VoSV :7565

Electrophilic substitution reaction
DOE IS HAZDes IOy

Elimination reaction
o DS DD TS0y

Question Number : 159 Question Id : 5447341279 Display Question Number : Yes Is Question
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The major product of the following reaction sequence 1s:

& $08 :3656‘ DONE &I o DB?

OH
(i) CHCl; + NaOH,,
> ?
(ii) NaOH
(iii) H*

Options:

1
2
3.

OH
O/CHO
R4
OH
% @CHD
OH
CHO
“
UCHO
%

4
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Question Number : 160 Question Id : 5447341280 Display Question Number : Yes Is Question

Mandatory : No

Which compounds among the following give positive 1odoform test?

o8 DI ¥Tres’ OAIrE D0 DL FB\D D ?

OH OH
H,CO e
CH- CH,
CH-
H;CO
(i) (ii)

0
(iv) (v)

Options:

(i), (iii) & (vi) only
,x @, (i) & (vi) Srgdo

(iii), (iv) & (v) only

L (i), (V) & (v) 3rgd

(i), (ii) & (v) only

s v @ () & () 3rg

(ii), (iv) & (vi) only
. (ii), (iv) & (vi) g
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